
 

 

SEA -BIRD    ELECTRONICS,    INC. 
1808  136th  Place N.E.,  Bellevue,  Washington   98005   USA 
Telephone: (425) 643-9866   Telex: 292915 SBEI UR 
Fax: (425) 643-9954   email: seabird@seabird.com 

 Sea-Bird Electronics Procedure 
PROCEDURE NUMBER: 67037 
TITLE: SBE19 Battlespace Profiler Spare Hardware 
REVISION: A 
EFFECTIVE DATE: 12/04/2007 
CHECKED BY: PC    PAGE 1 of 1

   

 
SBE P/N 50006 
 
 
 
 

Battlespace Jr. Profiler Spare Hardware Kit 
 
 
 
Kit Contents 

SBE P/N Manufacturer P/N Primary SBE Application QTY 
30145 Mach screw, 6-32 x ½ PH SS Battery endplate, Al Cell tray to housing 12 
30163 Mach screw, 8-32 x 1 PH SS Seacat magnetic switch 2 
30164 Mach screw, 8-32 x 1-1/8 PH SS Al Sensor Endcap 8 
30178 Mach screw, 10-24 x 7/8 FH SS Al Battery Endcap, threaded ring 8 
30182 Mach screw, 10-24 x 1-1/4 PH SS Al Endcap to housing 2 
30185 Bolt, ¼-20 x 1-1/4 HEX SS Endcaps, lift eye / cage 8 
30205 Mach screw, 6-32 x ¾ PH SS Al cell tray to sensor endcap 2 
30237 Washer, #10 nylon Al sensor endcap hardware for Al/PL housings 8 
30242 Washer, #6 flat Battery endplate 6 
30267 Screw Insul, #8 x ½” Al Sensor endcap hardware, for Al/Al housings 8 
30359 Mach screw, 8-32 x 5-16 PH SS Al Cell guard to housing 4 
30362 Nut, 6-32 nylon stop Internal threaded rod, Boardset retainer 2 
30414 Washer, #13 int. tooth For anode 2 
30444 Bolt, 1-24 x ½” HEX Ti Ti cell guard to housing 4 
30445 Mach screw, 10-24 x ¾ PH Ti Ti cell tray to endcap 4 
30447 Bolt, ¼-20 x 1-1/4 HEX Ti Ti endcaps, lift eye / cage 4 
30491 Mach screw, 8-32 x 5-16 RH Ti Ti cell guard to plastic housing 2 
30493 Mach screw, 10-24 x 1-1/4 HEX Ti Ti sensor endcap to plastic housing 4 
31125 Nut, 12-28, SS For anode 1 

 

DATE SYM REVISION RECORD AUTH DR CHK 
12/04/07 A Revised nut PN ML PC CB 
      



 

 

SEA -BIRD    ELECTRONICS,    INC. 
1808  136th  Place N.E.,  Bellevue,  Washington   98005   USA 
Telephone: (425) 643-9866   Telex: 292915 SBEI UR 
Fax: (425) 643-9954   email: seabird@seabird.com 

 Sea-Bird Electronics Procedure 
PROCEDURE NUMBER: 67037 
TITLE: SBE19 Battlespace Profiler Spare Hardware 
REVISION: A 
EFFECTIVE DATE: 12/04/2007 
CHECKED BY: PC    PAGE 1 of 1

 
 

APPLICATIONS: 
 
 
Universal Internal Hardware: 

Primary Application SBE P/N Part Description 
Threaded Rod, Boardset Retainer Plate 30362 Nut, nylon stop, 6-32 

Battery Endplate, PN 80076.1 30145 Mach. Screw 6-32 x 1/2, PH, SS 
Seacat Magnetic Switch 30163 Mach. Screw 8-32 x 1, PH, SS 

Battery Endplate, PN 80076.1 30242 Washer, #6, flat, SS 
 
 
Universal External Hardware: 

Primary Application SBE P/N Part Description 
Seacat Anode, PN 30044 31125 Nut, 12-28, SS 
Seacat Anode, PN 30044 30414 Washer, #12, int. tooth, SS 

Al Battery Endcap Threaded Ring 30178 Mach. Screw 10-24 x 7/8, FH, SS 
 
 
Titanium Housings: 

Primary Application SBE P/N Part Description 
Ti Sensor Endcap to Housing 30493 Mach. Screw 10-24 x 1-1/4", HEX, Ti 

Ti Cell Guard to Housing 30444 Bolt, 10-24 x 3/4, HEX HD, Ti 
Ti Cell Tray to Endcap 30445 Mach. Screw 10-24 x 3/4, HEX, Ti 

Ti Endcaps, Lift Eye / Cage 30447 Bolt, 1/4-20 x 1-1/4 hex, HEX HD, Ti 
 
 
Aluminum Housings: 

Primary Application SBE P/N Part Description 
Cell Tray to Housing 30145 Mach. Screw 6-32 x 1/2, PH, SS 

Cell Tray to Sensor Endcap 30205 Mach. Screw 6-32 x 3/4, PH, SS 
Cell Guard to Housing 30359 Mach Screw 8-32 x 5/16, PH, SS 

Sensor Endcap 30164 Mach. Screw 8-32 x 1-1/8, PH, SS 
Sensor Endcap 30267 Screw Insulator, #8 x 1/2" 

Endcaps, Lift Eye / Cage 30185 Bolt, 1/4-20 x 1-1/4, HEX, SS 
 
 
Plastic Housings: 

Primary Application SBE P/N Part Description 
Al Cell Guard to Housing 30359 Mach Screw 8-32 x 5/16, PH, SS 
Al Cell Tray to Housing 30145 Mach. Screw 6-32 x 1/2, PH, SS 

Al Cell Guard to Plastic Housing 30247 Washer, #8, Int. tooth, SS 
Al Sensor Endcap 30237 Washer, #10, nylon, WN-10 
Al Sensor Endcap 30182 Mach. Screw 10-24 x 1-1/4, PH, SS 

Al endcaps, Lift Eye / Cage 30185 Bolt, 1/4-20 x 1-1/4, HEX, SS 
Ti Cell Guard to Plastic Housing 30491 Mach. Screw 8-32 x 5/16, RH, Ti 

Ti Sensor Endcap to Housing 30493 Mach. Screw 10-24 x 1-1/4, HEX, Ti 
 


